## Chain Rule and Implicit Differentation

Chain	NUIE	unu	ואוא ד	ICIT	UITT	erem	anon		
Chain Ru	le								
The chain	rule alla	ows us to	take o	deriv	vative d	own a f	rree of f	unctions	
<b>C</b> (									
+(x,	4) 	The	derivati	ve dou	on each	line is	the top (	over the	bottom
x(c+)	NIG.+	>		)ł	<b>2f 2</b>	X	<b>2f</b> 2	7	
/ \				35=	ax a	<b>5</b> +	21	JS	
+ <	L	<							
				9£	9f 9	X	9f 2	Y	
				<u> </u>	SX G	<u>元</u> +	21	Æ	
This coplin	rates the	TYLOCOSS O	f pluga	ina in	the par	ametoria	ations		
mis icpin		process	rugg	ing in			CO HOHS		
Example									
	<u>~</u>								
1 1.04	2				<u>⊻</u> C	1 Han (			
L. Let u	$rac{1}{2}$	πγ), L <del>F</del> /		, Y=	u, tinc	a the t	ollowing	Partial	aerinatives
at the	given p	oint. Use	a tree	diagrai	m				
			30				12 20		1
			(v) 9N	at u=	:1 and	N=1	(D) 9/		l and n=l
			<u> </u>	200	<u>9x , 3u</u>	27	<u>30</u>	X6 WS	1 210 31
X		Y	Ъ	= 9X .	3u + 31	į. 9ņ	9v	= <u>9x</u> , <u>9v</u>	191.91
			2 M				30		
<u> </u>	V U		<u> </u>	= 3005	5(πγ)		<u> 9x</u>	= 3005(π	(y)
<u> </u>	ω <u>3</u> χ . 3			= 3005	$(\pi \cdot 1) = -(\pi \cdot 1) =$	5		=3 cos(π	1)=-3
<u> </u>	x - 3u + 3	<u>1. 20</u>	37				3x		
310 31	N 9X 3		20	= 2u			76	= 2 v	
57 = 3	x . 21 + 3	22.22		=2.1=	2			=2.1=2	
			3				314		
wher	n u=1 <sup>‡</sup>	v=1	91	'= -3xs	sin(πy)·	π	9/	=-3πxs	n(m)
				= -3πla	z)sinlπ)	=0		= -3 π(2);	sin(π·1)=0
X = U <sup>2</sup> {	v V <sup>Z</sup>								
= (1'	$(1)^{2}$		<b>S</b> U	= - v u	-2		3	i= t	
=2				=-10(1	$\int_{-2}^{-2} -1$			= 1 =	
v= X			Sn Sn	= (-3)(z)	)+(0)(-1)		<u>90</u> 91	= (-3)(2) +	(0)(1)
				=-6+	0			=-6+0	
= \				= -b				= -(0	
		1						1 1	

Make sure you plug x-values in x's, y's in y's, u's in u's, and v's in v's.

derivatives at the given points.	
Su S	
U (i) at where s=1,t=-1	
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	
$t \ 5 \ t \ $	
when $s=1, t=-1$ = $2e^{-3+4(1)-2} + 2(-1)e^{-3+4(1)-2} - e^{-3+4(1)-2}$	
$x_1 = 2(-1) - (1)$ = $2e^{-1} - 2e^{-1} - e^{-1}$	
$x_{2} = (-1)^{2}$	
$= 1 \qquad (ii) \frac{du}{2s} \text{ where } s=1, t=1$	
$X_3 = -1 + 3(1) \qquad \qquad \frac{\partial u}{\partial s} = \frac{\partial u}{\partial x_1} + \frac{\partial u}{\partial s} = \frac{\partial x_2}{\partial x_2} + \frac{\partial u}{\partial x_3} \frac{\partial x_3}{\partial s}$	
$= (e^{x_1 + 1x_2 - x_3} \cdot 1)(-1) + (e^{x_1 + 1x_2 - x_3} \cdot 4)(0) + (e^{x_1 + 4x_2 - x_3} - 1)(3)$	
e +0-se	
$= -e^{-1} - 3e^{-1}$	
=-4e <sup>-1</sup>	
3. Griven that $ze^{x+2y} + z^2 - x - y = 0$ . Find $z_x = \overline{\partial x}$ and $z_y = \overline{\partial y}$	
we assume z is a function of x and y thus we use implicit differentation	'n
$\frac{\partial}{\partial y} \left[ 2e^{x+2y} + 2^2 - x - y \right] = \frac{\partial}{\partial y} \left[ 0 \right]$ $\frac{\partial}{\partial y} \left[ 2e^{x+2y} + 2^2 - x - y \right] = \frac{\partial}{\partial y} \left[ 0 \right]$	_
$\frac{\partial z}{\partial x} \cdot e^{x+2y} + e^{x+2y} \cdot z + 2z \frac{\partial z}{\partial x} - 1 - 0 = 0 \qquad \qquad$	
$\frac{\partial z}{\partial x} e^{x+2y} + 2z \frac{\partial z}{\partial x} = 1 - z e^{x+2y}$	
<u>22   5+2y a x x x x x x x x x x x x x x x x x x </u>	
$\overline{\partial x} (e^{-1} + 2z) = 1 - 2e^{-1}$	
$\frac{\partial z}{\partial x} = \frac{(1 - 2e^{x + 2y})}{(e^{x + 2y} + 2z)} \qquad \frac{\partial z}{\partial y} = \frac{(1 - 2ze^{x + 2y})}{(e^{x + 2y} + 2z)}$	

## **Exit Ticket** Estimating Partial Derivatives

**Estimating Partial Derivatives** There are three formulas for estimating partial derivatives with respect to x:

- forward difference:  $\frac{\partial}{\partial x} [f(x,y)] \approx \frac{f(x+h,y) f(x,y)}{h}$ • backwards difference:  $\frac{\partial}{\partial x} [f(x,y)] \approx \frac{f(x,y) - f(x-h,y)}{h}$
- central difference:  $\frac{\partial}{\partial x} [f(x,y)] \approx \frac{f(x+h,y) f(x-h,y)}{2h}$

Below is a chart that describes the "Feels like" temperature (F(T, W)) given the wind speed (W) and air temperature (T), give all estimates of  $\frac{\partial F}{\partial W}$  at the given points:

		$W \backslash T$	40	35	30	25	h=5
ອພ	1	5	36	31	25	19	
		10	34	27	21	15	
		15	31	25	19	13	
	ſ	20	30	24	17	11	

**2.** (25, 20)1. (35, 15)backwards: <u>f(25,20)-f(25,15)</u>  $forward: \frac{f(35,20) - f(35,15)}{5} = \frac{24 - 25}{5} = \frac{-1}{5}$  $=\frac{11-13}{5}=\frac{-2}{5}$  $\frac{(up)}{backward} : \frac{f(35,15) - f(35,10)}{5} = \frac{25 - 27}{5} = \frac{2}{5}$ central:  $\frac{f(35,20)-f(35,10)}{2b} = \frac{24-24}{10} = \frac{-3}{10}$ 4. (30, 10) **3.** (40, 5) $forward: \frac{f(30,15)-f(30,10)}{5} = \frac{19-21}{5} = -\frac{2}{5}$ forward: f(40,10) - f(40,5)backward: <u>f(30,10)-f(30,5)</u>  $=\frac{34-36}{5}=\frac{-2}{5}$  $=\frac{21-25}{5}=-\frac{4}{5}$ central:  $\frac{f(30,15)-f(30,5)}{10}$  $=\frac{19-25}{10}=-\frac{10}{10}=-\frac{3}{5}$ 

Produced by Audriana Houtz, Mathematics Ph.D. student at the University of Notre Dame.